. BRIEFOHEMR

T % 4 T k: A W 7w m B OMEIETHFEHB|IBTHEAR {i =z
(B¥THE) MRk T
DIP (NS) ¢ 150 L= 6.3 m B CIP ¢ 100 S41 L= 176.1m
fETAKET3T HECK  [DIP(NS) ¢ 350 L= 161.1m CIP ¢ 350 S35 L= 678.8m
ek T JIREeN 6 150 N- |3 27,153,000 [24. 9. 8]25. 1. 7
8057 ¢ 350 N= 2 J
DIP (NS) 6 100 L= Il.1m
fETAKET2 T HELK  [DIP(NS) 6150 L= 3.9m
B E (Fol1) T. [DIP(NS) $ 350 L=282.9m | 28,864,500 |24. 9.14|25. 1. 4
®= fH-E5p ¢ 100 N= 2 %
A5 ¢ 150 N= 14
ERTANT2 T H ALK 'ﬁm S Bl
,/g@ — .
%aﬁzﬁ (Fm2) T DIP (NS) 6350 L= 160.3 n 21,777,000 [24. 10. 3]25. 1. 4
)£ ¢ 100 N= 3 A
PR AT 4540 [DIP(NS) ® 350 L= 110.7m
(&) THFITHED 12,537,000 [24. 10. 425. 2. 20
@ag%&ﬁ%iﬁ
RENEKEZE  [DIP(GX) 6 150 L= 192.3 m
(Zo1) T I o 150 N- " 6,888,000 |24. 8 .30[25. 2. 5
ZRENTROKE LR [DIP(6X) 6 150 N= 18.0m BE CIP 6 100 T1 L= 118.0m
(xm2) T2 SSp ¢ 150 L= 20.4m 8,274,000 f24. 11. 1f25. 2. 18 CIP ¢ 150 T1 L= 116.0m
DIP (GX) 6 75 L= 11.8m CIP 6 75 T1 L= 8.1m
T2 T BHESKE  [DIP(GX) 6 150 L= 193.2m CIP 6 200 T5 L= 192.2m
ST (% o 75 N- |3 14,805,000 |24. 8. 2[24. 11. 29
) F ¢ 150 N= 3 &
DIP (GX) 6 75 L= 108.9m %€ DIP (K) 6 75 H23 L= 6.0m
s DIP (GX) 6150 L= 6.0m VP 6 40 S46 L= 8.0m
gﬁg%ﬁ%@ﬁl DIP (NS) ¢ 75 L= 14.4m | 6,573,000 |24. 7. 5|24.10. 2| vp 6 50 S46 L= 6.1m
PP ¢ 50 6 50 L= 9.7m VP 6 75 S46 L= 6.4m
)£ $ 75 N= 10 F VP o 150 S46 L= 93.1m
DIP (GX) ¢ 75 L= 94.7m B VP ¢ 40 S46 L= 5.5m
o DIP (NS) ¢ 75 L= 9.1m VP ¢ 50 S46 L= 75.3m
gﬁg%ggﬁéﬁl PP 6 50 L= 11.8m | 5,313,000 |24. 7. 5|24.10. 2 VP 6 75 S46 L= 13.1m
iRIE 6 75 N= 75
s ¢ 75 N= 1
mpEET2 T HACKE  [DIP(GX) 100 L= 54.2m BE CIP 6 100 TI3 L= 55.0m
o LT R 13 |3 2,814,000 |24. 6. 7|24. 8. 15
DIP (GX) 6 100 L= 58.3m BE CIP o 150 S37 L= 66.9m
HEPEHT2 T B ALKE PP 6 50 L= 10.2m
WE (20 2) TF |5 6 100 N= 5 3t 5,460,000 |24. 10. 18[24. 12. 26
HH)5 6 50 N= 1
DIP (GX) ¢ 100 L= 103.9m B CIP ¢ 150 S37 L= 13.8m
A w=  |DIP(GX) 6150 L= 8.6m MCTP 6 100 S39 L= 96.1m
?ﬁg?g@ﬁﬁﬁkg DIP (K) 6150 L= 4.7m | 6,520,500 |24. 8. 16|24. 11. 13] DIPK) 6 100 HI9 L= 5.3m
H-g)5 ¢ 100 N= 1%
)5 ¢ 150 N= 2 JE
DIP (GX) 100 L= 101.5m BE CIP 6 100 S38 L= 95.9m
FIFBIET3 T HELAK  |DIP(K) 6100 L= 3.4m
T IS 6 100 N- L3 4,620,000 |24. 10. 18]24. 12. 26
N 6 20 N= 1
s |DIP(NS) ¢ 350 L= 112.5m BE CIP ¢ 350 SI15 L= 111.0m
%JIEB}IT%THEE*E DIP (K) 6350 L= 18.5m | 14,616,000 |24. 12. 27|25. 3. 22
HH)3 6 350 N= 2 H
DIP (GX) ¢ 150 L= 135.0m B DIP (K) ¢ 150 HI5 L= 10.4m
BAACIT2 T BEdAK [0 ¢ 150 N= 5 H DIP (A) ¢ 150 S61 L= 4.8nm
ok T ey 6 150 N- 53t 10,647,000 | 24. 11. 14125, 3. 14| o 150 39 1 102.6m
MCTP 6 150 S41 L= 16.8m
DIP (GX) 6 100 L= 62.0m E CIP 6 100 S38 1= 64.3m
g&??igamm DIP (K) 6100 L= 4.7m | 3,990,000 |24.10. 30|24. 12. 28
BESS ARTIE 6 100 N= 3
F< A XY REKE |DIP(GX) 6 250 L= 375.4m
(fhET) 2B (Z D 1) |DIP(NS) ¢ 350 L=1376.5m | 61,803,000|24. 8.30[25. 3 .28
T5
F< A XY REKE |DIP(GX) 6 250 L= 203.2m
(fhET) B (F D 2) |DIP(NS) ¢ 350 L=201.8m | 36,918,000|24. 8.30[25. 3 .28
-
T A YRR PP o0 Lo 18,133,500 |24. 11. 29[25. 3. 18
(WERAET) S B T8 P Co T
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T F 4 T W w kB OMEIETFHB|ZTFEAH i =
(e T2 Bl B2 SRR
FNF B2, 35EL kA [DIP(K) 500 L= 26.0m g DIP(A) ¢ 600 S40 L= 20.9m
Sq IS T 26,565,000 [24. 6. 7|24. 9. 14
Tkt /K AUt |EEh 4754 ¢ 700 N= 2 | 38,881, 500
NEBERIENW B L (B8 1773458 ¢ 500 N= 2 K 24. 8. 2]25. 3.10
S EEN 4794F 350 N= 2 H
et DIP (K) 300 L= 3.9m | 7,329,000 V& SP b 300 S35 I- 3.9m
gﬁgg%g B FkE 6 300 N 24. 8 . 11|24. 11. 8
Pk IR o 75 N= 2 I
FVA-F 1 = [ 15, 393, 000
WRRR ST L /\ﬂ& N= 1
A — AR TEH Wi ERt ¢ 40 N= 1A 24913125, 2 . 12
et Fﬁ.ﬁr N= 1 &
%mz TU R AT [EREREE ¢ 200 N= 1 & | 6, 342,000
T g ,\EA1E4BJ§F‘% - | 24. 8. 2124.11. 29
DIP (K) o 75 L= 1.8m | 6,625,500
G v X BC /K MBS |DTP (K) $300 L= 6.9m
™ (e 6300 N- - 24.10. 5|24.12. 13
HE5 ¢ 75 N= 1k
TE?&T/7%$ Gt [EWESE ¢ 75 N= 1 & 3,990, 000
Eob ol T 24.10. 4]24. 1. 31
BT 1= [ 11,004, 000
KB R TR |4 BETlE 1=
T T [t L 24. 9. 6|24.12. 4
JEESUE 1=
& 2 2714 413, 836, 500
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BB E R HE B

() & ok F

| KR 4] 24 i 5 3
(- e i — — — — FERERE| & §
s i Bl wa [ w5 [ wmEs ] mawm | oo
mm m m m m m m m
700 S P 249 0 249 1, 603
D I P 1, 354 0 1, 354
600 D I P 50 0 50 50
500 D I P 142 0 142 142
400 S P 2,520 0 2,520 3. 587
H P 1, 067 0 1, 067
350 D I P 2, 894 0 2,894 2,894
D I P 2, 387 0 2, 387
300 cC I P 159 0 159 2,701
H P 155 0 155
250 S P 7 0 7 51
D I P 44 0 44
g 11, 028 0 0 0 0 11, 028 11, 028
(2) X K ®
| R ) 24 S Jig .
n o&|® & S L S— _ e R R & 2
- jas Bl [ e el wmawm | -
mm m m m m m m m
600 S P 15, 286 0 15, 286 15, 833
D I P 547 0 547
500 S P 8,534 0 8,534 91, 541
D I P 13, 007 0 13, 007
450 D I P 688 0 688 9,702
c I P 2,014 0 2,014
400 D I P 351 0 351 351
S P 7,834 0 7,834
350 D I P 5, 049 0 5, 049 12, 907
S S P 24 0 24
300 S P 2,077 4 A4 2,073 8, 453
D I P 6, 369 11 11 6, 380
S P 4,600 0 4,600
250 D I P 2,464 0 2,464 7, 088
S S P 24 0 24
900 S P 2,578 0 2,578 5. 994
D I P 2, 646 0 2,646
S P 1,113 0 1,113
150 D P 1, 337 0 1, 337 2,667
C P 217 0 217
B 76, 759 11 0 4 7 76, 766 76, 766
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(3) Al K
nOENE e T B (e (R mam | ANER| A F
mm m m m m m m m
600 D I P 158 21 A21 137 137
D I P 3, 596 30 30 3, 626
500 S P 3, 457 0 3, 457 7,083
D I P 464 0 464
450 cC I P 504 0 504 J68
D I P 1,463 0 1,463
400 S P 69 0 69 1,532
D I P 7, 396 939 939 8, 335
350 c I P 1,125 790 AT790 335 8, 855
S P 185 0 185
D I P 11, 933 0 11, 933
300 c I P 2,576 0 2,576 14, 568
S P 59 0 59
D I P 13, 407 0 13, 407
cC I P 21 0 21
250 S D 13 0 13 13, 499
S S P 28 0 28
D I P 29,617 0 29,617
cC I P 12,922 192 A192 12, 730
200 S P 575 0 575 42,933
S S P 11 0 11
D I P 100, 632 568 15 553 101, 185
cC I P 19, 994 316 A316 19, 678
S P 2,068 0 2,068
150 vV P 310 93 A93 217 123,310
HP PE 122 0 122
S S P 20 20 20 40
125 cC I P 420 0 420 420
D I P 110, 752 435 5 430 111, 182
cC I P 28, 220 606 A\606 27,614
S P 747 0 747
100 vV P 1, 899 0 1, 899 142,721
HPPE 1, 246 0 1, 246
S S P 33 0 33
D I P 45,474 239 0 233 45, 707
cC I P 10, 863 8 A8 10, 855
75 S P 3,119 0 3,119 62,270
vV P 2,603 20 A20 2,583
HPPE 0 0 3
D I P 1, 539 0 1,539
Vv P 5,312 81 A81 5, 231
50 P P 69, 532 32 107 139 69, 671 76, 814
HPPE 353 0 353
S P 20 0 20
Vv P 1,278 14 A14 1, 264
40 P P 5, 255 0 5, 255 6,519
25 P P 93 0 93 93
5 501, 519 2,263 107 2,167 203 501, 722 501, 722
:’?iéf .« 3k EE7J<%%+ 589, 306 2,274 107 2,171 210 589, 516 589, 516
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3. KiE X — %
®E 23 &£ JE 24 £ J
X55 t # e =
e M| ity |l | 2o | o | B | PR i | i | 2o | F
(mm) Bk | Bk | il B | Bk | fto
] R R R O O I I I I I
13 419| 2, 083 13| 182 2,278 2,697 405|2, 980 18] 1401 3,138 3,543
° 20 10 119 21 140 150 9] 194 1 12 207 216
25 8 82 1 13 96 104 3 84 1 9 94 97
40 1 1 1
L 50
75 1 1 1 2 2 2
100
2| 150
/NEE 437| 2, 286 14| 216] 2,516 2,953] 417|3, 260 20 161 3,441] 3,858
13 123( 2, 607 78 47| 2,732 2,855 85 577 120 184 881 966
H] 20 2 368 3 59 430 432 1l 356 12 44 412 413
25 2 345 7 34 386 388 1 95 4 29 128 129
40 7 42 1 2 45 52 6 56 2 2 60 66
50 46 1 47 47 24 1 1 26 26
i
75 6 6 6 11 11 11
100 5 1 6 6 7 1 8 8
150 0 0 1 1 1
= | 200
/NG 134( 3, 419 91| 142] 3,652 3,786 93(1, 127] 140 260 1,527 1,620
= i 571] 5, 705] 105] 358] 6,168] 6,739 51014,387] 160] 421 4,968 5,478
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4.  R/KBHIE S SR MR T BRI
e T S N %]
X VAN GRS s P
X . 93 4 pE | 24 4 g . i o
(%) m)
- & O E 18 16 88.9
B i fmh & L 6, 857 T 6,022 T-M 87.8
A TE k% 3o 5 {f e -
m| B A LF 1,500 F 1,218 FM -
e | HE IR 2 B G 1 9 200. 0
. % R T F 218 T 906 T 415. 6
‘ j 1 0 -
WL K A B i T
I RP L E 462 T 0 T -
* /N 7 9,037 TH 8, 146 TH 90. 1 0
%K R K 5 7 1 140. 0 S. 98 L D FVANUF - i
B owe T 13, 420
& e 10, 208 T 4, 556 TH 44.6 21, 398m
W m k= |’ K 17 20 ff nrel
& & I =H 8,651 TH 7,883 T 91.1 ’ 2, 524
(TR N = 0 0 1 -
AR T 0 T 0 T -
) 92 1t 85 92.4] o |5
oK E R T HE] 12737 T8 ]| 11,671 TH 91.6 ’
55 | onr e . 14 ## 11 1
WAKEUI T LE
FAZKCR 9,422 T 70 T 9
97 1 83 4 85. 6
Sy KSR HE L&
" 7 - 9,754 TH 9,287 T 95. 2 9, 0981f
PR 271 m 53 m 19.6
n B T = 3, 505 T 2,976 T 84.9 116, 599m
i 7 £t # 186 FM 332 M 178.5
/N 2 47,463 TH | 36,775 TH 77.5| 45,036
39 km 44 knm 112.8
S B
LS A 0 T 0 T -
KR A 5z 94 km 134 km 142. 6
" 8,264 TH | 11,89 TH 143.9 2, T74km
A 15 {F 12 fF 80.0 2,420
WAREER|Z 3 101 38 1 37.6 5,051
L HT w= #| 6.8 F1]| 7.670 F1]| 11L4
FM o B 0 T 0 FH -
7N 2 15,150 TH | 19,566 TH 129.1| 7,471
& 2 71,650 TH | 64,487 TH 90.0| 52,507
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5. W KEE L F H#H K
R ook 23 SEoopk 24 A JE
X743 SRELE | ARITEHE & ZRELE | AR IE &
S (R 265 265 275 275
Hr
| BT () 261 261 274 274
E&
T %= % (M) 271, 183, 000|271, 183, 000 288, 642, 000|288, 642, 000
A (1) 70 70 44 44
[
AT (1F) 60 60 38 38
Y
T &= & (M) 30, 848, 900| 30, 848, 900 41, 787,950 41, 787, 950
AT (1F) 17 17 22 22
i3
" AT (1F) 17 17 22 29
iE
T &= & (M) 6, 030, 000 6, 030, 000 5, 555, 000 5, 555, 000
A (1F) 151 151 194 194
i
4 AT (F) 94 94 97 97
T &= & (M) 18, 429, 305| 18, 429, 305 9, 965, 800 9, 965, 800
A () 17 17 11 11
4
K| WAT S () 15 15 11 11
¥
T %= # (19) | 19,089,000 19, 089, 000| 11, 345, 250 11, 345, 250
K| A () 8 8 2 2
o
Mo REATEEL (1) 8 8 2 2
1
ViliT = #B P 584, 000 584, 000 190, 000 190, 000
~ AR (F) 17 511 528 11 537 548
(=)
WATH S (1F) 15 440 455 11 433 444
&t
T %= 2 (79) | 19,089, 000[327, 075, 205|346, 164, 205 11, 345, 250|346, 140, 750|357, 486, 000

KA KARITHERMR O KARERE  2fF 908, 260 & & e,
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6. HAREBREEREIFHEK
X 4y *E 23 & JE 24 8 i3
B " "
o K 2,192 2,238
T ¥ 2,192 2,238
A - EOE | FEE A EOE | FEE T
() () () () () ()
Koo E B 23 23 23 23
ﬁﬂ( O R G 0 0
s A — X F R 30 30 28 28
A= x4 162 162 102 102
AL AOY 7T 163 163 168 168
. x 71N #t 0 355 355 0 298 298
L g [EER R QUK Bk 159 159 184 184
T £ o i 0 0
e 71N #t 0 159 159 0 184 184
T #HIIT Xk 5 0 0
N
e %) fth 0 0
&t 0 537 537 0 505 505
Kig Xy % o R 46 46 43 43
i i 5 f6 A & B 1 1 2 2
A = X & E 11 682 693 13 739 752
o fh K & 220 220 203 203
A S I /- & 20 20 18 18
x 7N 5 0 240 240 0 221 221
m| Y T g T E 0 0
T/ O B - 230 230 256 256
K =t 12 188 188 148 148
sy
e D fih, 257 257 311 311
7 545 1,110 1,655 625 1,108 1,733
& g 545| 1,647 2,192 625 1,613 2,238
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. B O = M B K
A 3}
11 H 12 H 1 H 2 H 3 H g
X 4y
i m | HEEE| W | FBElE| w1 | FBEk| b |EEk| | (BEEkE| W | fHEls
QYA JEE % G RRG R [ [ @
0 0 90 | 398 | 87 | 459 7 41 0 1 184 899
= 0 488 546 48 1 1,083
%
Q34 JEE 0 26 693 420 5 1, 144
| 204 0 14 320 4 1 339
. m {fEEE| W [ FEEs | | BEk | m (Eels| W [ EEk
QYA JEE 1 G RRG G G I
. 0 0 29 | 180 5 67 3 3 0 1
it O off |278 209 | 7H 72 |21B eff | 1A 14
"
234EFE | OB of |19H 5 |12H 1104 (138 71k | 1H 3
m | 224EfE | 0B off |16B 4k |11H  51F | 8 20 [10H 11
A QYAFJE 4,2°C -3.6C -5.7C -5.1°C -2.2°C
$
| 234 F 4.0°C -2.7C -5.4°C -5.6°C -1.8C
/;\‘
iz
Q4F i 4.5C -0.7C -5.0°C -2.9C -1.8C
QAEPE |124H -1.5°C|27H -9.7°C| 4H -8.8°C|[20H -7.7°C|10H -6.8C
w®
g 234EE |21 H -3.9°C|30H -5.5°C|11H -10.5°C|18H -8.7°C| 5H -6.1C
=k
224FE |29H -2.9°C|15H -7.3°C| 7H -9.1C| 7H -6.0°C| 4H -6.0C
o B (RiE = REEdH~N)
T EsA () HEFN 5 1 AR 4, 016fF
—Hmm=f () RS2 A 2 H 61014




8. MWr XK # ¥
X5y 23 i B 24 B
1 1] P 7K B 2T K 7 a1 1] B oK B AT K 7
PREC | P | IR | P | R | s | R | PR R | PR | P
H | ] | | ] | b | o ubh | | |
4 1 12 0 0 1 12 1 2 1 2
5 2 60 1 13 3 73 0 0 0 0
6 3 75 0 0 3 75 1 6 2 2 8
7 1 1 2 1 3 2 1 6 1 6
8 3| 194 0 0 3| 194 1 60 1 60
9 4 42 0 0 4 42 4] 406 4] 406
10 2| 157 0 0 2| 157 2 40 2 40
11 4] 128 0 0 4] 128 3| 213 3l 213
12 3 85 3 10 6 95 5| 694 64 6| 758
1 1 20 0 0 1 20 4 42 4 42
2 3| 370 1l 200 4] 570 2| 286 2| 286
3 41 195 0 0 41 195 1 60 1 60
G 31| 1,339 71 224 38| 1,563 25( 1,815 66 27| 1,881
H Y 3 112 1 19 3 131 2 151 6 2 157
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